Grade 6

A case study
A student from India

Studying with us for last two years
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The teachers have put a gag order on
him so that others get a chance to
answer guestions in class.



The beginning

* The student is a resident of India of Indian origin.

* He was a typical average student for his age.

* He was studying in a reputed English medium school.

* His speaking and writing skills in English were very poor.

* His performance in math and science was similar to that of an
average student in a good school.




All the screenshots of the activities are taken from
work done by the student in the last two years.

No other work of his batch has been included in
this document.
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The start

* We started with a weekend batch with two one-hour sessions per
week. This batch was already running for US students.

* He joined another batch with four one-hour sessions per week, in
addition to the weekend batch.

* We stuck to our policy of:
* No memorization
* No homework
* No extra study hours
* Enjoy studies
e Have fun while learning

* We don’t charge extra if a student joins multiple batches.




Story of the next two years

A summary of the activities the student has done in the last two years since he
joined us.
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Snapshot of his online folder

All students have their individual online folders of activities, which include
programming as well as non-programming activities.

The recordings and notes of sessions are stored separately and made accessible to
the students.
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[3 basic plating
(3 sscience
& Arithmeti cOperationManageripynb
BookManageripynb
CalendarManageripynb
CataHandlinghManager-ploting.ipynb
DataHandlinghManageripynb
Elementarylntegerianageripynb
FastArithmetichlanager-Copy1.ipynb
Fasttrithmetichanager-Copy2.ipynb
FastArithmetichlanageripynb
GraphManager.ipynb
MaftrixManager.ipynb

MowvementPlottingManageripynb

m m m W b b b b b b b &

Powerhlanager.2-Copy1 .ipynb

& PowerManager.2.ipynb

& 34 pletingmanageripynb

= AdvancedPowerhanager2.ipynb
= AlgebricExpressionManageripynb

B AreaManaceriovnb
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B preaMa nager.ipynb

& ArithmeticExpressionfanager2.ipynb

& ArithmeticExpressionManager.ipynb

& ArithmeticlnegualityManageripynb

& ArithmetichManageripynb

& BasicGeometricCalculationManageripynb
& BasicGeometricCalculationManager_Practice.ipynb
& BasicOperationManager.ipynb

& BasicPlottingManageripynb

& BoockManageripynb

& CircleManager.ipynb

& DecimalDperationhanageripynb

& DivisibilityManageripynb

& FastCalculationManager.ipynb

& FlowchartiManageripynb

B from xv.math.basicmaths import PrimeMumberManageripynb
& GeometricSeriesManageripynb

& Gradef8MathManageripynb

& Grade7MathManageripynb

& GraphManager.ipynb

& HistoryComprehensionManager.ipynb

B okeshia nageripynb
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[} Lembanageripynb

& LearnLanguagehanageripynb
[} Logarithmianageripynb

[} MovementPlottinghanager-practice.ipyr
] MovementFlottinghManageripynb
[} MultiVariableManager2.ipynb
= MultiVariableManageripynb

] MumberSystemilanager.2.ipynb
= MumberSystermnilanageripynb
= MumberlUnithManageripynb

= PericdicTableManageripynb

& practice calendar manageripynb
& ProbabilityManageripynb

& ratio ploting.ipynb

[} Ratichlanageripynb

& RaticnalMumberhanageripynt
[} RaticnalMumberilanager2.ipynb
B SeriesPatterniManagesipynb

] SimpleArithmetichanager—2.ipynb
& SimpleArithmetichlanageripynb
= SingleVariableManager2.ipynb

& SinoleVarisbleManaaer iovnb

& SingleVariableManagesipynb
= SpellingManageripynb

& StatementToExprianageripynb
= Timehlanageripynb

& Untitled.ipynb

= UsageManageripynb

& ‘ocabulary Menageripynb

& \ord lManageripynk
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~ | B[ akshit /| maths
[
& RationalMumberLine.ipynb
& # printing the calendaripynb
& 15min barchart.ipynb
& algebraic math.ipynb
& ArithmeticlnequalityManager_practice.ipynb
& barchart3.ipynb
& i dont know the name.ipynb
& |nequality.ipynb
& mils and km.ipynb
& multy.ipynb
& np.array.ipynb
& numberine.ipynb
& numpy-and-graph.ipynb
& pandas.ipynb

& plotting egations.ipynb
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& multy.ipynb

& np.array.ipynb

& numberine.ipynb

& numpy-and-graph.ipynb

& pandas.ipynb

& plotting eqations.ipynb

& point_postion.ipynb

& printing calender.ipynb

& range list.ipynb

& range open and close.ipynb
& range.ipynb

&) rate, slope.ipynb

& Rational and Fractional Mumbers.ipynb
& RationalMumberLine.ipynb
& sin-cos-tan.ipynb

& sires.ipynb

& sympy.abc.ipynb
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~ | B/ akshit /! ploting
=
(3 orazy 20 stuff
[J games
(3 goodme
3 input
3 manga ep
[ output
= range and liinspace.ipynb
& o4 plating .ipynk
B 24 blabla.ipynb
& g plating.ipynb
& o =.ipynb
& american revolution.ipynb
B Animate Circle.ipynb
B Animation of points.ipynb
& animation.1.ipynb
& animation.2-Copy1.ipynb
& animation.2.ipynb
& animation.ipynb

B annimation-star.i pynb
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& bisbls plotting.ipynb

& blabla.ipynb

& carm bord 2.ipynb

B rarrm bord.ipynb

& cartuns.ipynb

& chart stuff.ipynb

A= charts.ipynb

& circle 2.ipynb

& circle 3.ipynb

& circlemanagerpractice.ipynb
B cclgurs and sha pes.ipynb

& CoMPARE-MUMBERS.ipynb
] coolnes.ipynb

& difference [ipynb

B differint shaps.ipynb

] draw-carmm-bord.ipynb

& draw-circle.ipynb

] draw_circle-day_2.ipynb

& draw_circle-day_3.ipynb

= draw_circle-day_4_the_circle_masterpice.ipynb
& draw_circle.ipynb

) drawing family.ipynb
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& drawing family.ipynb
& drawing kite.ipynb
& drawing of balls.ipynb

& drawing polygons.ipynb

& drawing-geomatricshapes.ipynt

& drawing-lines.ipynt

& drawing-shapes.ipynb
& fprcticipynb

& family.ipynb

& function plotting.ipynb
& game fail.ipynb

& geometricshapes.ipynb
& house.ipynb

& housel.ipynb

& ihatemylife.ipynb

& important.ipynb

& |ine plot.ipynb

& |inspace fun.ipynb

& matplotlib.ipynb

& rmatplotlib.pyplot. 2 ipynb
& matplotlib. pyplot.ipynb

& matplotlibpyplot.ipynb

I <. O I o Y

& matplotlibpyplot.ipynk

& more_properties_of_a_friangles.ipynb
& moving points.ipynb

& myinventionsnotebook. ipynb

& pecpletimetook. ipynb

& plot universe.ipynb

& plot.ipynb

& ploting circle.ipynb

& plating me happy.ipynb

& plating polygons.ipynb

& ploting yayaysayyayaysyayyayayayayayyl
& plating.ipynb

& ploting_raticnal_numbers.ipynb

& pletingpeints.ipynb

& plt-review.ipynb

& plt.elements of the body.ipynb

& point-positions.ipynb

& ;ool table.ipynb

& properties of 8 quadrilateral .ipynb
& properties_of_a_triangle.ipynb

& properties_of_triangel_practice.ipynb

B andom sha pes.ipynb

0000 000000000000 a
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& properties_of_a_triangle.ipynb
& properties_of_triangel_practice.ipynb
& andom shapes.ipynb

& random-walk.ipynb

& randomnes.ipynb

& s.ipynb

& shapes-2.ipynb

& shapes.ipynb

& :in and cos positions.ipynb

& zin and cos.ipynb

& zin, cos, pi.ipynb

& :in-and-cos position.ipynb

& sin-and-cos-concept.ipynb

& sin-and-cos.ipynb

& slop.ipynb

& ctar pleting.ipynb

& SystemOfBodies.ipynb
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Partial snapshot of the notes folder of his
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He, like all our students, is also a good
orogrammer because that helps them in
oetter and faster learning of Math, Science,
English, Geography, and other subjects.




Learning geometry through programming

* He loves programming.

* Plotting in Python made learning e
geometry easier and faster. =) R RN
* |t was not just about writing

code but finding the right
coordinates of the points, lines,
and other shapes.
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Programming for math and other subjects as well.

File Edit View Insert Cell Kemel Widgets Help ile
8 4+ = A B A+ % PRin B C P Code v | | =
In [41]: 1 def arith_series{a = 1, d = 3, count = 18):
2 s = [1
3 nnext =a+d
4 s.append{a)
5 s.append{n_next)
6 print(s)
7 for i in range{count):
8 #print(i)
18 n_next = n_next + d
11 s.append({n_next)
12 print(s)
13
14
= pass
16 pass
In [42]: 1 arith_series{a = 1, d = 4)
[1, 5]
[1, 5, 9]
[1, 5, 9, 13]
[1, 5, 9, 13, 17]
[1, 5, 9, 13, 17, 21]
[1, 5, 9, 13, 17, 21, 25]
[1, 5, 9, 13, 17, 21, 25, 29]
[1, 5, 9, 13, 17, 21, 25, 29, 33]
[1, 5, 9, 13, 17, 21, 25, 29, 33, 37]
[1, 5, 9, 13, 17, 21, 25, 29, 33, 37, 41]
ra C g1 a2 17 1 el iyl e 27 A4 AC1
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Edit View Insert Cell Kemel Widgets Help
+ = @ B 4+ % PRun B C W Code v || E3
[1, 5, 9, 13, 17, 21, 25, 29, 33, 37, 41, 45]
In [43]: 1 def a_series{(a = 1, d = 3, count = 1@):
2 s = [1
3 n_next = a + d
4 s.append(a)
5 s.append(n_next)
6 #print({s)
y for 1 in range{count):
3 #print(i)
18 n_next = n_next + d
11 s.append{n_next)
12 #print(s)
13 pass
14 return s
15 pass
In [38]: 1 a_series{a = 3, d = 4)
out[38]: [1, 11, 21, 31, 41, 51, 61, 71, 81, 91, 161, 111]
In [39]: 1 a_series{a = 9, d = 18)
out[32]: [o9, 27, 45, 63, 81, 99, 117, 135, 153, 171, 189, 267]
In [48]: 1 a_series{a = 288, d = -48)
out[4e]: [2ee, 154, 1e8, 62, 16, -3@, -76, -122, -168, -214, -26@, -306]
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Edit View Insert Cell Kermel Widgets Help View  Insert Cell Kemel  Widgets Help

& B B 4+ ¥ PRin B C W Code v T B 4 % PRin B C W Code v | =
[e, 1, 1, 2, 3, 5, &, 13, 21]
[e, 1, 1, 2, 3, 5, 8, 13, 21, 34]
[e, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55]
. e, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55, 89
In [5]: 1 def g series{a = 1, r = 3, count = 18): [ ]
2 s = [1
= nnext = a * p 1 def fibo seires{count=18):
) = 2 fs = []
4 s.append{a) 5 ne - o
5 s.append{n_next) 4 ni = 1
6 #print(s) 5 nz = 2
7 for 1 in range(count): 6 iS-QPPE“gE”E’g
. . 7 s.append{nl
o Bl 8 #print(fs)
18 n_next = n_next * r 16 for i in range(count):
11 s.append{n_next) 11 nnext =nd +nl #8 + 1 =1
12 #print(s) 12 -F5.z-?ppend(n_next)
13 pass i; #print(fs)
lc_l return s z ne - nl # 1
15 pass 16 nl = n_next # 1
17 #print(na)
] 18 #print(nl)
In [6]: 1 g series{(a = 2, r = 3) 19
28 return fs
Out[6]: [2, 6, 18, 54, 162, 486, 1458, 4374, 13122, 39366, 118898, 354294] 21 pass

1 fibo_seires(18)]

[e, 1, 1, 2, 3, 5, §, 13, 21, 34, 55, 89]
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Comfortable in using advanced packages as
welll

. 7T =2.2
* Advanced packages like Numpy w5 27 - costongles)
plt.plot(xs, ys, color = "red”, 1w = 28)

and Sympy to plot things and e oo

plt.ylim{-2.5, 2.5}

rotate t h e m plt.gca().set_aspect('equal’, adjustable='hb

plt.title("Rainbow")
plt.axis{"on"}
plt.show()

* He uses even sin and cos
functions and understands why |
they are used

Raink
e Rainbow

* Plotting network graphs for
various topics

-2 -1 0 1 2
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Edit View Insert Cell Kernel Widgets Help

[(]@a[®]+ v [prRn B CI» cone

n [15]: ‘ 1 import calendar

n [16]: 1 year = 2812
2 month = 6
n [19]: 1 # initializing the year and month
2 # month starts from 1, not zero
3 year = 2812
4 month = 6
5 # printing the calendar
6 print(calendar.month{year, month))
June 2812
Mo Tu We Th Fr Sa Su
1 2 3

4 5 6 7 8 91e
11 12 13 14 15 16 17
18 19 2@ 21 22 23 24
25 26 27 28 29 3@

n [28]: 1 print(calendar.calendar(13e@))

29089
January February
Mo Tu We Th Fr Sa Su Mo Tu We Th Fr Sa Su

1 2 3 4 1

Edit View Insert Cell Kemel Widgets Help

'ss @ B 4 ¥| PR B C » Cose v[e=]

March

Mo Tu We Th Fr Sa Su

| Not Trusted

@ | Python 3 (ipykemel)
Memory: 7.2

In [1]:‘ 1 | import folium

In [2]:‘ 1 m = folium.Map(location=[45.5236, -122.6758])
Zm

out[2]:

In [1]:

In [2]:

In [3]:

In [4]:

In [5]:

import networkd as nx

G = o Graph{)

1

G.add_edge("Uranus", "Gaiz")

ol

6.add_edge{"Uranus", "Cronus")
G.add_edge{"Gaia", "Cronus")
6.add_edpe{"Gaia", "Rhes")
G.add_edpe{ "Uranus", "Rhea")

noc.draw(B, with_labels = True)
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Handling data as well

e Learned how to load data and
plot it

* This is an example of solar
system data from the NASA
website

* He got the initial code but
quickly started writing his own
code

+91 75699 33343
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Edit View Insert Cell Kernel Widgets Help Not Trusted
¥ B B 44 % PR B C W Code v|| e
[n [1]: import pandas as pd
import numpy as np
In [2]: webpage = "https://nssdc.gsfc.nasa.gov/planetary/factsheet/planet_table_ratio.html”
webpage
Jut[2]: "https://nssdc.gsfc.nasa.gov/planetary/factsheet/planet_table_ratio.html’
[n [3]: tables = pd.read_html(webpage, header = 8)
ss = tables[@e]
3
Unnamed: 0 MERCURY VENUS EARTH MOON MARS  JUPITER SATURN  URANUS NEPTUNE PLUTO
0 Mass 0.0553 0815 1 0.0123 0107 nr8 952 14.5 171 0.0025
1 Diameter 0.383 0.949 1 02724 0532 11.21 9.45 4.01 388 0.186
2 Density 0984 0951 1 0605 0.713 0.240 0.125 0.230 0.297 0.380
3 Gravity 0.378 0.907 1 0166 0377 2.36 0.916 0.889 112 0.071
4 Escape Velocity 0.384 0926 1 0213 0450 532 317 1.90 210 0.116




The downloaded data was used for beautiful visualization,
analysis, and understanding.

1 ss.Mass.astype(float).plot.bar()

2

<AxesSubplot:>»

300 -

250 1

200 -

150 1

100 ~

MERCURY A

WENUS 1

EARTH

MOON -

MARS -

JUFITER

SATURN

RANUS

MEPTUME

PLUTC

In [13]: 1 plt.figure(figsize=(1@,18)})
2 ss["Length of Day"].astype(float).plot.pie()

3

out[13]: <aAxessubplot:ylabel="Length of Day'»

Length of Day

VENUS

+91 75699 33343

MERCURY
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In [11]:

1
3

plt.figure(figsize=(1e,18))
ss.Diameter.astype(float).plot.pie()

out[11]: caxessubplot:ylabel='Diameter's

Diameter

JUPITER

VENUS

MERCURY
PLUTO

NEPTUNE




Plotting to learn geography

* Plotting countries, continents,
rivers, and other landscapes

* Locating and identifying things
on maps

* Analyzing and predicting about
places and verifying whether

their analytical conclusions are
right or not

+91 75699 33343

File Edit Wiew Insert Cell Kermel Widgets

B |+ = A B 4 PR B C W Code

from xv.geo import MapManager

In [2]: ke = MapManager(verbose = False)
ke

ke.getRandomProblem(problem_type = @,
search = ["Fr '
1
)

Locate the following on the map.
France, Baillet-en-France, San Francesco, Puiseux-en-France, Francenigo
Fort Frances, Belloy-en-France, Franceville
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‘Managers’ serve as our modern

equivalent of books and question
banks

All managers can generate unlimited number of non-repetitive questions based on a set of
concepts.

The managers shown in this document are the only those which were done by this student.
He used large number of managers, only a few are presented in this document.

+91 75699 33343 info@xcelvations.com




Each manager contains a large number of problem
types. This document shows examples for a few
managers. In other cases, random sample problems
have been shown.



Managers from math.

CO = h W b p @

[ =T
WoRd B s

from xv.math.algebra import AlgebricExpressionManager

ke = AlgebricExpressionManager()

ke.printProblemTypes()

. _problem_add
. _problem_add advanced

_problem_subtract

. _problem subtract_advanced
. _problem multiple subtracts
. _problem multiply

_problem multiply advanced

. _problem divide
. _problem divide advanced 1

_problem divide advanced 2

. _problem_divide_advanced_3
. _problem division with_zero
. _problem power with_ zero

. _problem_abs values

+91 75699 33343

1 ke.getRandomProblem(problem_type = 9)

. Dividedy+ 22> +522+5z by

1 ke.printAnswer()

4y 220 522 5z
—~+=+
X X X X

1 ke.printSolution()

: dy+223+52245z2) /  (x)

info@xcelvations.com
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In [1]: 1 from xv.math.kids import DataHandlingManager 1 from xv.math.basicmaths import ArithmeticExpressionManager
In [2]: 1 ke = DataHandlingManager
2] 5 ke.pr‘intPr‘oblemTyE:_‘s()g < 1 ke = ArithmeticExpressionManager()
2 ke.printProblemTypes()

@. _problem_random_data_counting
1. _problem find_closest_pair

2. _problem forecasting _problem_multilayer_fraction

a
1. _problem multilayer_fraction_2
) 2. _problem_root_format_to_exp_format
In [3]2 | 1 |ke.getRandomProblen (EORICIRIE - ©) 3. _problem_inv_root_format_to_exp_format
Out[3]: We have this data: 4. _problem exp_format_to_root_format
2,4,1,2,4,22,46,1,2,2,554,22,61,222226,2454262656,64122261.21! 5. _problem_type_root_exp_1

6. _problem_type root_exp 2

7. _problem_multiple operators

8. _problem_statements_to_exprs

9

Based on the above data, answer the following questions:

1. How many times each item appears (it is also called frequency)? roblem write expression simnle
2. What is sum of each item separately? 1é -P roblem write ez rescion P
3. Show cumulative frequency of each item. - P - .~ p .
4 What is tatal count of all items? ) ) 11. _problem _write_expression_advanced
& What is total sum of all items? g?' et 5 e uRius of e Fighes Rem 12. _problem write expression_advanced 2
6. What is the value of the lowest item? 13. _problem_solve_expression_advanced
7. What is the value of the highest item? B £ iwhat s The diflarencs of tarm with highess wbes and S Sarm with i 14. _problem_expression_solver
8. What is the difference of term with highest value and the term with lowest value? R WIS QNS les] - (RRnm WIS lowess: Mailus)
9. Which number comes highest number of times? =E-1=z 1 ke.getRandomProblem{problem_type = @)
. Thex e difference of fanm with higines? wales and S tanm wish lowess val
10. Which number comes lowest number of times?
11. What is average of all numbers? . Solve:
' : : ! 8 8. Whikch rumiber Comes highes? rumioer of Times? n [51: |71 [kelpra ion
12. Find the item in the middle. - o
= comes: 20 tmas Out[5]:
Frivar f— P - 3 [5]
In [5]: 1 ke.printSolution() Q 3. Show cumulative frequency of each item. Them s e ot zimes 1 2is: caled Mode 7
out[5]: Q1. How many times each item appears (it is also called frequency)? Keep on adding row frequencies to get cumulative freque 18 1L WWinikch muminer comes lowas: mueminer of Simes T 4

The number of times an item appears is also called its frequency. Keep on adding row sums to get cumulative sum H ) [ B
% comes: S times:

Item (x) Freguency (f) x f Cumulative f Sum (f*x) Cumulative Sum
1 6 1 s & & & & 11. Wihat s average of all numipers? 2 2 . .
Rum of numbers 47 = [EI * H Simplify denominator fraction 5
2 20 -— = — =, T
2 20 |26 40 e mparage of @l rarioars FRg— T 3159 3
4 T s 7 a3 28 74 Thiz memrage s aiso called THEEMN
s s 5 5 |38 25 99 = [3 * El * Simpiify denominator fraction 3
& 5 8 12 Find T Rasm in T middle Y B 7
6 8 |48 43 147 Thez 3otal count of Rames = 45
The e of riddls Bam = 230 37 5§ 2 9 o
Total 46 147 2 = [E Sl E] * {3 * % :t % } Simplify denominator fraction %

Q 2. What is sum of each item separately?

Sum of each item: The cumulative faquancy tainle s

_[2.2,2,8], { 2,2 } smpiify numerator fraction &
. z § | Currasiuires § 8 4 21 98 '
x £ f*x  Sum(f*x) Q 4. What is total count of all items?
' LI |
16 176 |6 46 [29951]{2 . 2
- =lz*7*3*7*3|*1 % } Simplify numerator fraction §
2 20 2+20 40 i el 4 21
i ?
7 a7 | ?4? What is total sum of all items? P T = 2 *2 t2 . 8 . 2 ) 2 Simpiy nmertor fscton 2
515 653 | o= o3 8 4 2 1 9 =& o
68 [6"8 |48 @ 6. What is the value of the lowest item? £ il
1 Tokal | 46 24948404042
T Bx2+lelsdal
Q3. Show cumulative frequency of each item. Q7. What is the value of the highest item? 23328
Keep on adding row frequencies to get cumulative frequency. 6 _ _ _ ; =R
Keep on adding row sums to get cumulative sum #:F.'HJ e e
The 235 Bem s 2 — 30375

The il t2rm s also calied Median
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1 from xv.math.basicmaths import DecimalOperationManager

1 ke = DecimalOperationManager()

2 ke.printProblemTypes()

. _problem positional_wvalues

. _problem_concept_of_decimal

. _problem_concept_of_decimal_advanced

. _problem_compare_decimal_numbers

. _problem_type_int_as_float

. _problem type_int_multiplied by ten_exp
. _problem_type_int_divided_by_ten_exp

. _problem_type_decimal_and_exp

. _problem_convert_decimal_to_rational
_problem_convert_rational_to_decimal

. _problem_type multiply decimal_numbers
1. _problem_convert_decimals_div_to_rational_number
2. _problem_type frac_add

3. _problem_type frac_sub

4. _problem_type_frac_pow

5. _problem_type_mul_fractions

6. _problem_decimals_mixed operations_1
7. _problem_decimals_mixed_operations_2
8. _problem_decimals_mixed_operations_3
9. _problem_decimals_mixed operations_4
8. _problem_convert_number_systems

1. _problem_add subtract_number_systems
2. _problem_operate_number_systems

1 ke.getRandomProblem{problem_types 13)
Simplify the followings:

B0+04 1
*®

400 a0

1 ke.printdnswer()
7
ﬁ or

0.035

1 ke.printSolution{)
BO+04 |

400 60

1 from xv.math.basicmaths import LogarithmManager

1 ke = LogarithmManager()
ke.printProblemTypes()

ha

@. _problem_concept_of _log

1. problem general concept_of log

2. problem why concept of log

3. problem simple log expr

4. problem find log of product series
5. _problem_find_log_of_product_of_pairs
6. _problem_log_of_division

7. _problem_find_log_of_exp_to_exp

8. _problem_find_log_of_exp_product

8. _problem_find_log_of_div_exp_both
18. _problem_log_and_exponent

11. _problem_log_reciprocal

12. _problem_log_chain_rule

13. problem product of two _terms

14. problem div _of two terms

15. problem simplify log in exponent
16. _problem_log_of_multi_terms

17. _problem_long_expanded_to_simplified
18. _problem_log_of_common_numbers

18. problem custom questions

1 ke.getRandomProblem(problem type = 19)

Prove that

2 1
5 <log)pd < 2

1 ke.printAnswer()

2

2 1
5 <log)p3d < 2

2
i ke.printSolution()

o lea

logp3d 7?7
=3 7 10
=3 >10%

I

1
Now log,3 7 3

1
= 3 7 107
= 3% < 10, which s true

Hence 3

2
5 <logyp3 <

+91 75699 33343

1 from xv.math.basicmaths import NumberUnitManager

1 ke = NumberUnitManager()

1 ke.getRandomProblem{problem type = 4)

Convert 9 0z to ounce.

Note: You may use the following table:

1ounce = 2835gram
1pound = 160z

1 kilo-gram = 2.205 pound
1pound = 0.0005 short-ton
1 metricton = 1.12 shori-ton
1long-fon = 1.016 metric-ton
1grain = 0.05scruple
1grain = 0.01667 dram
1grain = 0.00208 ounce

1 kilo-gram = 1000 gram

0z

long-tes———metric-
.. /
Qu\puuﬂd

kilo-gram
The conversion path will be: \
oz—pound—kilo-gram—gram—ounce
gram
9oz ounce
_gozklpound* 1 kilo gram _ 1000 gram _ 1 ounce
16 0z 2.205 pound 1 kilo gram 28.35 gram
grain
=Q* l * 1 ® 1000 * 1 ounce scruple
16 2205 1 2835 L

=0 *0.9998120353373564 ounce

= 8.998308318036207 ounce

info@xcelvations.com



1 ke.getRandomProblem(problem type = 11)

2

Form 2-letter words from letters r, k, v, g, f, u, x. The words need not be meaningful

1 ke.printAnswer()

2

84

1 ke.printSolution()

2

ways of selecting 3 from 9 items

(9
3

9!
9—3)3!

91
TR

362880
T 72026

=84

1 ke.getRandomProblem(problem_type= 2)

-
2

Find the ratio of numbers 0.014, 0.031 and 0.58

1 ke.printAnswer()

-
£

14 : 31 : 580

1 ke.printSoclution()

-
“

The greatest commaon divisor (GCD) of the numbers 27,12 and 3 = .

To get ratio, we have to divide the numbers by the GCD.

Ratio of numbers 27, 12 and 3

27 12

:?:?.

W w

ke.printSolution()

Numbers:

~1| b2
—| o
— -
B3| =
—| 2

b =

Common Denominators:

Let us make all denominators equal to their LCM = 14

17 22 614 1x14 1x7 214
T 2x7 Tx2"1%14"1%14"2x7" 1x14

7 4 8 14 7 28

147 147147147147 14
Average:

As we have common denom Average of numbers

80 |
=<7 _T
14 =<
_80r2 140
T 14/2 =5t
_4 20
7 T2
40
T

+91 75699 33343

Sorted Numbers:

Median:

The number of fractions i 6, an even number.

The middle term i o+l ?tl't
_r“c:c:__rl"'s-_ﬁ:!——z BTN

Hence. the median will be averags of 3rd and 4th terms.
Wegizn

1
It

I
b —

bl =

I
b —

info@xcelvations.com

100714

90¥14

L

0414

G114

50414

40114

30/14

20714

114

14

-10414

-20714

-30y14

-40714

-50¥14

6 = g4/14
1=14/14
12 =714

m

4714

20f21 = 13/14 (Avg)




1 ke.gevRandomProblem(problem_type = 7)

Msrium haz 7 farm. Esch farm haz 2 garden. Esch garden has 60 tree. Esch tree has 10 fruit. Esch box has 30 fruit. Esch box sils for 32, The

cost of maintaining each tres is 30.5. Answer the following questions:

1. What is the total number of farm?
2. What is the total number of garden?
3. What is the total number of tree?

4. What is the total numbser of fruit?
&. What is the total number of box?

&. What is the total sales value?

T. What is the total cost?

8. What is the net profit?

1 ke.printSolution{)
The equation of the question are as follows:
| Mary =B garden
| garden = 20 tree

I tree =20 fruit

1 fruit = & box

12
| box = SBOO3 |sell price]
| garden = $200 |cost price]

Let us do calculations:

Totsl ssles revenus

= B garden

= B garden = 20 tree So, 160 iree
garden

= B garden » 2 tree 20 fruit So, 3200 fruir
garden ifree

20 tree 20 fruit box

= B garden = zarden * tree * 12 fruit So, 8003 box
8 4 20 tree 20 fruit box %R
=5 garden s garden iree * 12 fruit * box

1
=E$'ﬂ]$20tﬁt$¥

= $a400/3
Cest

__$200
" parden

$200
= carden + 8 garden

= §1600

MNet Profit
= Total Cest - Total Revenus

= $6400/3 — 51600

= §1600/3

How, we can answer the questions:

. What is the totsl number of garden?
Answer; B

2. What is the tots] number of tree?
Anzwer: |60

e

What is the total number of fruit?
Anzwer: 3200

bl

What is the totsl number of box?
Angwer: BOOM

n

. What is the total sales value?
Angwer: 3640003

@

What is the total cost?
Answer, 51600

=

What is the net profit?
Anzwer: 16003

1 ke.getRandomProblem(problem_type = 12)

Easy level: 1

Solve the following:
—Tx—2

3-— =6+

2 3

1 ke.printAnswer()

8
11

1 ke.printSolution()

3 —Tx—2 _6+6—6x
2 N 3
—Tx -2 6—6 .
= 3- x2 -3=6+ * 3 To remove 3 from left side, subtract
— —7x—2_3 6 — 6x
2 N 3
-Tx—2 6-—6 6—6 6—6
— * - X34 x d Move x terms to the lhs.
2 3 3 3
_—?x—Z 6—6x_3+6—6x 6 — bx M e
— 2 3 = 3 3 ove X rms
_—?x—2_6—6x 3
= 2 3
-Tx-2 -3 6-6x 2 B
- a3 5 -5_3 Make denominator of bol
— {2|x+f|]—(12—|2:|:]:3
6
Bx-6 _,
= e =
= 33'1:5_6-6: 3-6 Multiply both sides with 6

= 3Bx-6=18

— 3Bx-6+6=18+6 To both sides, add 6
= 33x=24

E = & Divide both sides with 33

33 33

= x =0.727272727272727

+91 75699 33343

= xzﬁ
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Plotting the electrostatic charge between

protons and electrons

File

Edit

2 gl 4 <  PRun

In [5]:

In [3]:

Oout[3]:

In [4]:

out[4]:

In [12]:

Oout[12]:

In [13]:

Oout[13]:

In [18]:

In [26]:

In [27]:

In [28]:

View Insert Cell

Kernel Widgets Help

B C W Code v

import matplotlib.pyplot as plt
import numpy as np

ql = 1.68217663e-19
ql

1.68217663e-19

Q2 = 1.68217663e-19
q2

1.68217663e-19

ed = 8.854e-12

=:]
8.854e-12
r = @.e37
iz
a.a37
r = np.linspace(©.837, 1, 168)

r = np.linspace(@.881, B.899, 188)

F=1/(4 * np.pi * e®) * (q1 * g2}/ r ** 2

-
n

(gl * q2) / (4 * np.pi * e@ * r ** 32)

View Insert Cell Kernel

v

Widgets Help

OB 4+ 4% PRun B C W Code v | | E

-
[}

1;(4 * ﬂp.pi * EB) * (ql * q2)f r *% 2
F=1(ql *q2) / (4% np.pil * e® * p ** 2)

plt.plot(r, F)

[<matplotlib.lines.Line2D at ex7fd4f281bded:]

le—-22

2.0 1

1.5 1

1.0 9

0.5 1

0.0

0.00 0.02 0.04 0.06 0.08
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Chemistry has been both in-depth
and fun



He uses periodic table plotting to enhance his
understanding of elements and their properties

- atomic_number vs atomic_radius_rahm

bolling point 300 - - 55 Y
1 2 3 1 5 5 7 8 ] 0 n 12 13 14 — atomic_radius_rahm
) \ . ) . H " . . . . . !
280 96
1
260
3 4 f 6 240
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He knows about atoms, their structures, electronic
configurations, possible bonds, and much more

* He can not only write the
E|eCtron|C Conﬂgurat'On as JP 1: ; -+ :wa .-11’—::: “4323:11;'4 :24:1’”5 41754 65"
Shown bUt aISO interpret it to 2. Electronic configuration form with noble gas as core: [Xe] 417 3d1 8s2
predict possible bonds.

* He can also suggest some s e o 6545754
hyb ri d izatio n S . 6. Detailed configuration:

&h|

* He is also well-versed in ionic <[ e
and covalent bonds, and their ; |""LL R el "
effects on electrical and thermal S T e -

25111

conductivity. g




1 | ke.getRandomProblem(problem_type = 2)

1  ke.getRandomProblem({problem_type = 2}

Use ptable.com to answer the following for the atom 46X g, Write the following for the atom with atomic number 64:
1. Electronic configuration
We use representation as m‘“‘""“S}rmholdmp 2. Electronic configuration form with noble gas as core
s umber 3. last_shell
a. What is name and symbol of the element? How will you represent it ? 4. glectrons_in_last_shell

5. Valence electrons

b. If the number of neutrons in the atom increases by 5, how wil vou represent it ¥ How the original atom and this atom are related? §. Detailed configuration

c. If the number of protons in the atom increases by 3 and the number of neutrons decreases by the same number, how wil vou represent it 7 How the original

atom and this atom are related? 1 ke.printanswer(}

d. Ifthe atom loses 3 electron, what is the resutt? Atomic number: 54

. If the atom gains 3 electron, what is the result? -
Hame: Gadolinium

L ke.printAnswer(} 1. Electronic configuration: 15725 2p"3573p%45734"04p%5574d"5p%4 f 754" 65°

a. Name: Palladium and symbol: Pd 2. Electronic configuration form with noble gas as core: [Xe] 4f7 5d1 §=2
Representation: ""S‘Pdlm

3. last_shellk &
b. The new atom isdﬁPdm. The atnrnsdﬁpdlm and %Pdm are izotopes of each other. -

c. The new atom ismfnmf,. The ﬁtnrns"ﬁpd|m and 'ﬂf.ﬂ]m are isobars of each other. 4. electrons_in_last_shell: 2

4% Pdly 5, Valence electrons: 6s°4 f  5d'
d “"Pdl_gﬁ 6. Detailed confiouration:
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English was his Achilles' heel, but
NOot anymore.

We helped him with our special modules, enabled with voice support to improve
his skills in English.



Learning English was organized and intuitive

View Insert Cell Kemel Widgets Help

* We focused on vocabulary, Cm ae e
pronunciation, reading books,
jokes, and articles, and watching L
Vi d eos . ke.printProblemTypes ()

H C W Code v

from xv.english import WordManager

21. _problem_fill_gender_words

8. _problem_uncountable_nouns_ending_in_s 22. problem_gender match_columns
1. problem_common_plural nouns 23. _problem_option_genders
* Each manager can generate a 2. Srosien o vise
3. problem word usage fill blanks 25. _problem_word_with_opposite_gender
.. o 4. problem irregular_plural forms 26. _problem_thesaurus_match_synonyms
h uge n u m be r Of n O n - re petltlve 5. problem irregular singular forms 27. _pr'oblem_tf_wesaur'us_match_antonyms
6. _problem_noun_plural_fill_blanks ;g _E:g:ﬁ::_Eanzdﬂgiigognl]iaiztmyms
° 7 _pr'oblem_noun_FlllTblanks 38. :problem:-Find_sgnonym:thesaur*us
q u est I O n S 8. _pr'oblem_pr*t?nour.‘l_'Fll}_blanks 31. _problem_find_antonym_thesaurus
¢ 9. _problem adjective fill blanks 32. _problem_find_by_synonyms_antonyms
18. _problem _verb_fill_blanks 33. _problem_regular_synonyms
. o 11. _problem adverb_fill blanks 34. problem_regular_antonyms
® Th f I t I 12. _problem_preposition_fill_blanks 35. _problem_collective_nouns
e OCUS IS On a na y ICa 13. _problem conjunction_fill blanks 36. _Er'oblem_r'egular'_nouns_singular‘_plur‘al
. 14. _problem_interjection_fill_blanks 37. _problem_r'egular"_at_:ijt_ectiVE_For'ms
|ea rn I n r-at h e r th a n rote 15. problem determiner fill blanks 38. _problem_regular_similes
g 16. _problem_predeterminer fill blanks 32- _F""Ozie”‘_r'e@ia'"_ﬂomo”ﬁmf‘
17. _problem fill confusing words - _problem_regular_homopnones
| M 18. _problem_match_confusing_words_meanings 4l —pmblem—co'?pound—pPePOSltmns
ea rn I ng . 19. _problem fill misspelled words jg' —E:ggi:;—::i;;i—;g::;i
20. —pr'Oblem—'FJ_'nd—mj'SSpEllEd—OUt 44, :pr'oblem:single:wor*d_For*_phr'ases
21. _problem_fill gender_words 45. _problem_american_british_words
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from xv.english import VocabularyManager

ke = VocabularyManager()
ke.printProblemTypes()

_problem _english for_ junior_ competitions

_problem _english toefl words

_problem predict similar opposite words
_problem_single word_for_phrase
_problem_answer_yes no

_problem fill confusing words with meanings and usage:
_problem fill misused word sets with usages
_problem fill confusing words
_problem _fill misspelled words
_problem fill homophone words

_problem_identify homophone words in_sentences
_problem fill similar opposite words
_problem_+ill weird_words

_problem _predict prefixes

_problem_predict suffixes
_problem_predict word roots
_problem_words_related to phobia
_problem words related to mania

_problem fill in with appropriate words
_problem test yourself

1 from xv.english import SpellingManager In [1]:

1 ke = SpellingManager()
2 ke.printProblemTypes()

_problem_random_spellings
_problem_leading word spellings
_problem_trailing word spellings
_problem closest syllables pairs
_problem_homophone words
_problem_prefixes word pairs
_problem_suffixes_word_pairs
_problem misspelling prone pairs
_problem_confusing word pairs
_problem_gender_word pairs

18. problem phrases

11. problem idioms

12. problem game guess word

e T e L = IR R R Wy (N R S %
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1

1

L

0O~ T W W @

1e.
11.
12.
13.
14.
15.
16.
17.
18.
19.
28.

22,
23.
24,
25.
26,
27.
28.
29,
3e.
31.
32.
33.
34.

from xv.english import BookManager

ke = BookManager(file_path = "The Race f
ke.printProblemTypes()

_problem_book_translate
_problem_hear_and_write
_problem_read_a_text
_problem_put_sentence_in_order
_problem_put_paragraph_in_order
_problem_insert_a_sentence
_problem word_usage
_problem _fill_words_of_a_pos
_problem word_usage fill blanks
_problem_noun_fill blanks
_problem_pronoun_fill blanks
_problem_adjective fill blanks
_problem_verb_fill blanks
_problem_adverb_fill_blanks
_problem_preposition_fill blanks
_problem_conjunction_fill blanks
_problem_interjection_fill blanks
_problem_determiner_fill_blanks
_problem_predeterminer_fill blanks
_problem_fill_confusing_words
_problem_match_confusing_words_meanings

T r mm—— i m e m—pm—m e o

_problem_find_misspelled out
_problem_fill gender_words
_problem_gender_match_columns
_problem_option_genders
_problem_find_odd_gender
_problem_word_with_opposite gender
_problem_thesaurus_match_synonyms
_problem_thesaurus_match_antonyms
_problem_find_odd_synonyms_antonyms
_problem_idioms_match_columns
_problem_find_synonym_thesaurus
_problem_find_antonym_thesaurus
_problem_find_by_synonyms_antonyms



Fillin the blanks with the words give below. Change the form of words if needed. The homophone words are:

trusted, usual, taste, usually > o 0:00 o) e——

His mind was net in a normal state. A healthy man thinks of, feels, and remembers innumerable things simultaneously, but has the power and will o
select one sequence of thoughts or events on which to fix his whole attention. A healthy man can tear himself away from the deepest reflections to say a civil

Write spelling of the above words or their forms in the following sentences:
word to semeone who comes in and can then return again to his ewn thoughts. ... - War And Peace

> o 0:00/ o) e

He laughed in his. dry, cold, unpleasant way, with his lips only and not with his eyes. - War And Peace

... And as counters of imitation gold can be used only among a group of people who agree to accept them as gold, or among those whe do not know the nature of
gold, 20 universal historians and historians of culture, not answering humanity's essential guestion, serve as currency for scme purposes of their own, only in Answer:
universities and among the mass of readers who have a for what they call "sericus reading.” - War And Peace

Homophones words: medal, meddle, metal, mettle, meddler and mediar
But she =till hoped, and asked, in words she herselfdidnot - War And Peace
Paragraph:
1. He medalled twice at the Olympics.
2. We have American Airlines tickets, but it's on British Airways metal.

trusted, usual, taste, usually

Answer:

His mind was not in a normal state. A healthy man usually thinks of, feelz, and remembers innumerable things simuttanecushy, but has the power and will to select
one seguence of thoughts or events on which to fix his whole attention. A healthy man can tear himself away from the deepest reflections to say a civil word to
someone whoe comes in and can then return again to his own thoughts. ... - War And Peace Match the phrases and single words for them.

He laughed in his uszual dry, cold, unpleasant way, with his lips enby and not with his eyves. - War And Peace

... And as counters of imitation gold can be used enly among a group of people who agree to accept them as gold, or among those who do not know the nature of Phrase Single Word
gold, so universal historians and historians of culture, not answering humanity's essential guestion, serve as currency for some purposes of their own, only in 1. record of heart action i. portmanteau
universities and ameng the mass of readers who have a taste for what they call "serious reading.” - War And Peace
2. socially awkward ii. cardiogram
But she still hoped, and asked, in words she herself did net trust | - War And Peace 3. Aword formed by parts of two other distinct words, such as smog, which consists of the sm from smoke + the og from fog jii. cardiogram
4. record produced by such an instrument iv. gauche
Answer:
Phrase  Single Word Write the name of words related to each obsession.
. 1. Ecdemomania
5 | 2. Toxicomania Solution:
4 il . . .
3. Trichotillomania 1. Is incredulity the mark of the agnostic?: yes
sottion: . o 4. Doramania 2. Do carnivorous animals eat meat?: yes
rase ingle WWor
1 recordofheatacion i cardiogram 3. Is dermalfitis an inflammation of one of the imbs?  no
2 socially awkward i gauche = i = = 2
3. Awordformed by parts of two other distinct words, such as smog, which consists of the sm from smoke + the og from fog i potmanteau Answer: 4 IS rhe pmduci‘ Of g Cﬂnsummai‘ef]f Skfﬂfu"‘ CounterTEfter ]l.fkeﬂf to DE‘ raken 85 Q'E.‘nume. ) _""ES
4 record produced by such an instrument i, cardiogram ~ . .
1. Ecdemomania: Abnormal COH‘],OUJ'SIOH for wandermg
gauche (aou) adjective - _ . . -
1. meaning: Awkward or lacking in social graces; bumbling 2. Toxicomania: Morbid craving for poisons - )
A ) A N ) . Fill in the blanks with appropriate words.
2. meaning: Skewed, not plane: 3. Trichotillomania: Neurosis where parrem‘ ,OU'HS out own hair slay, sleigh
. " - i i i 1. you should see him in concert because he will you
3 meaning: OESEING 3 forson angie oo 4. Doramania: Obsession wiih owning furs 2. Santa Claus is usually pictured on Christmas cards arriving in a pulled by reindeer
3. Ha ha! You me!
4. 1956, "Giants Bears in Pro Title Battle”. in Lodi News-Sentinel, 1956 December 31, page &
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Which one of the following is correct? Sort the sentences into a meaningful order:

Thither all the chiefs, and most of the distinguished warriors, followed; among whom the anxious Heyward found enter without attracting any

dangerous attention to himself. - The Last Of The Mohicans 1. We may call it herb of grace o' Sundays.

2.0 you must wear your rue with a difference.
3. They say he made a good end.
4| would give you some violets, but they wither'd all when my father died.

A means towards
B. means with

C. means to

D. means on
Answer:

Answer: We may call it herb of grace o' Sundays. O you must wear your rue with a difference. | would give you some violets, but they wither'd all when my father died.
They say he made a good end.

C. means to

Solution:

Thither all the chiefs, and most of the distinguished warriors, followed; among whom the anxious Heyward found means to enter without attracting any

dangerous attention to himself. - The Last Of The Mchicans Insert the sentence in the passage below. Use punctuation if needed.

But yet do | believe The origin and commencement of his grief Sprung from neglected love.

Hint: Vierb mean is generally followed by preposition to.
Passage
How now, Ophelia? You need not tell us what Lord Hamlet said, We heard it all If she find him not, To England send him; or confine him where Your wisdom

best shall think.

Answer:

Hear and write.
But yet do | believe The origin and commencement of his grief Sprung from neglected love. How now, Ophelia? You need not tell us what Lord Hamlet said,
We heard it all. If she find him not. To England send him; or confine him where Your wisdom best shall think.

Fill in the blanks using pronouns given below.
Use punctuation or change the form of words if needed.

1 ke.printAnswer()

worgssnoth g, em, la , weith r

On July 21st, 1969, people around the world watched with great excitement as astronaut Neil Armstron..
- Long stay'd he so, At _-a little shaking of mine arm, And thrice his head thus waving up and down, He rais'd a sigh so piteous and profound
As it did seem to shatter all his bulk And end his being. That done, he lets me go, And with his head over his shoulder turn'd He seem'd to find his way
without his eyes, For out o' doors he went without their help, And to the bended their light on me. - Nohe

Read the following: ) ) ) ! . The scrimers of their nation He swore had neither motion, guard, nor eye, If you oppos'd them. Sir, this repart of his Did Hamlet so envenom with his envy

As astronaut Michael Collins stayed aboard and piloted the command module, astronauts MNeil Armstrong and Buzz Aldrin made the first manned landing on That he could do but wish and beg Your sudden coming o'er to play with him. Now, out of this,- - None

the moon's surface.
- Here's fine revolution, an we had the trick to see't. Did these bones cost no more the breeding but to play at loggets with ' ? Mine ache to
think on't. - None

Answer:
FIRST CLOWN. What is he that builds stronger than the mason, the shipwright, or the carpenter? - None

> o 0:00/ o) e——g -
words noth_ g, em, la__, eith_r
_ _ _ Answer:
Sort the word into a meamngful sentence. Add a few common words if you need. worgs nothing, either, last, em

1. .And your water is
2_a sore decayer of
3. your whoreson dead body

Answer:

And your water is a sore decaver of vour whoreson dead body. +9175699 33343 info@xcelvations.com



Match words with their meanings

1. wait a. point or degree to which something extend

2. weight b. stay in one place and anticipate something

3. extend . widen, broaden in scope or range or area

4. extent d. weight unit, unit used to measure weight
Usage:

-.. have you eyes? You cannot call it love; for at your age The hey-day in the blood is tame, it's humble, And waits upon the judgment: and what judgment
Would step from this to this? Sense sure you have, Else could you not have motion; but sure that sense Is apoplex'd, for madness would not err Nor sense
to ecstacy was ne'er so thrall'd But it reserv'd some quantity of choice To serve in such a difference. ... - None

_. The appurtenance of welcome is fashion and ceremony. Let me comply with you in this garb, lest my extent to the players, which | tell you must show fairly
outward, should more appear like entertainment than yours. You are welcome. _.. - None

-.. Tears seven times salt, Burn out the sense and virtue of mine eye. By heaven, thy madness shall be paid by weight . Till our scale turn the beam. O rose
of May! ... - Nene

Find odd spellings out.

1. sergeant
2 grat
Select the masculine gender out.
3. great
1. cock
4. presence 2. brother
G exceed 3 male
4. boar
5. sister
Answer: Usage:
1 sergeant BARNARDO It was about to speak, when the cock crew. - None
° _.. A bloody deed. Almost as bad, good mother, As kill a king and marry with his brother . - Nene
2. grat - Therefore our sometime sister . now our queen, Th'imperial jointress to this warlike state, Have we,
3. great one dropping eye, With mirth in funeral, and with dirge in marriage, In equal scale weighing delight an
better wisdoms, which have freely gone With this affair along. ... - None
4. presence
5. exceed
Answer:
1. cock
grat 2. prother
3. male
All others are correctly spelled. 4 boar
5. sister

Match opposite genders

1. fox a. vixen

2. boar b. hen

3. cock €. SoW

4. buck d. doe
Usage:

... [_Sings._] By Gis and by Saint Charity, Alack, and
_.. Bring me to him. Hide fox | and all after. - None

+91 75699 33343

Match words with their synonyms

1. ask a. deceitful

2. purport b. ruminate

3. meditation c. vociferate

4. utterance d. supplicate
Usage:

OPHELIA. Pray you, let's have no words of this; but when they ask you what it means, say you this: [_Sings._] Tomorrow is Saint Valentine's day, All in the
morning betime, And | a maid at your window, To be your Valentine. - None

HAMLET. Haste me to know't, that |, with wings as swift As meditation or the thoughts of love May sweep to my revenge. - None

OPHELIA. My lord, as | was sewing in my chamber. Lord Hamlet, with his doublet all unbrac'd, No hat upon his head, his stockings foul'd, Ungart'red, and
down-gyved to his ankle, Pale as his shirl, his knees knocking each other, And with a look so piteous in purport As if he had been loosed out of hell To
speak of horrors, he comes before me. - Nene

GUILDEMSTERNM. But these cannot | command to any utterance of harmony. | have not the skill. - None

Find odd meaning out.

. kenning

1

2. elegy

3. legible

4 limn

5. euphuism
6. peruse

Usage:
OPHELIA. He took me by the wrist and held me hard; Then goes he fo the length of all his arm; And with his other hand thus o'er his brow, He falls to such

perusal of my face As he would draw it. Long stay'd he so, At last -a little shaking of mine arm, And thrice his head thus waving up and down, He rais'd a sigh
so piteous and profound As it did seem to shatter all his bulk And end his being. .. - Nene

Answer:

. kenning

1

2. elegy

3 legible

4. limn

5. euphuism
6. peruse

Match idioms with their meanings

1. go ape a. a highly placed, well-paid executive
2. loose cannon b. express wild excitement or anger
3. fly high C. be very successful, especially temporarily

4, fat cat d. someone out of control; someone who speaks or acts recklessly

info@xcelvations.com




Comprehension to improve
analytical ability in other su
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Edit WView Insert Cell Kernel Widgets
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Help Question:

1. Give an example of gliding joint.

2. What is cavity in bone?
3. Why are fractured bones plastered?
In [1]: from xv.biology import AnatomyManager
4. Match the ibems in columin | with one or more items of column [1:
Colemn | Column (1
In [2]: ke = AnatomyManager() (1) Upper jaw
{ii} Fish
kE iy
{iiiy Ribs
(i} Snail
ke.printProblemTypes L
F B {v} Cochroach
3% hawa finc = 2
@. _problem_introduction_to_cell (2} have fins on the body
1. _problem_bones_in_human_body (b} has an outer skelzton
2. _problem tissues_introduction {c) can fly in the air
{d} is an immovable joint
ke.getRandomProblem(problem_type = 1) (€} protect the heart
(f) shows very slow movemsent
- {g) have a streamlined bod
Comprehension Text: = o
Watch the following videos. 5. What do you mean by movement?
Skeletal structure and function | Muscular-skeletal system physiology | NCLEX-RN | Khan Academy &. What are pelvic bones?
Anatomy of the Skeleton 7. Mame the places where two parts of the body are sesn to be join

. Give two examples of hinge joints.

In the human body, bones serve as the structural framework, providing support, protection, and enablin
types: long, short, flat, irregular, and sesamoid bones. 3. If you tie 3 scale with your arm, ars you able to bend your elbow?

+91 75690 AB34:3r0u mean tiniR @@l vations.com

English and
lects.

ke.printinswer()

1. The joint in backbone.

Pa

[

o

. The hollow space in the bone is called cavity.

. Plaster keeps broken bones at their right place so that they grow and join properhy.

. The changing position of the body or any part of the body is called movement.
. The bones which enclose the body part below the stomach are called pelvic bones.
. These places are called joint.

. (i} Joints in fingers

I
s
(i} Joints in knee

Mo, we cannot bend owr elbow

. If the body tapers at both the ends then such, shape of the body is said to be stre

30 How does the snake move?
Snakes have a long backbone and many thin muscles which help in the movemsn
gives it 3 forward push by pressing against the grownd.



We create notes while teaching. In
the next few slides, we present a
sample of some notes used by him.
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We mentor, while they engage in self-learning

View Insert Cell Kernel Widgets Help Mot Trusted @ ‘ Python 3 (ipykernel)
@ B 4 ¥ PR B C W Code v | = Memory: 7.7 G
° ] hey search facts on net and
who was he

George Washington Carver was an American agricultural scientist and inventor who promoted alternative crops to

discuss among each other and
p r‘e S e nt a St O ry O n a t O p i C gg:l(::l..lr:'y and methods to prevent soil depletion. He was the most prominent black scientist of the early 20th

what inventions he did John Washington carver

o T h i S Wa S t i m e to | e a r n a b O u t Carver's inventions include hundreds of products, including more than 300 from peanuts (milk, plastics, paints,

dyes, cosmetics, medicinal oils, soap, ink, wood stains), 118 from sweet potatoes (molasses, postage stamp glue,
flour, vinegar and synthetic rubber) and even a type of gasoline.

g re a t G e 0 rge Wa s h i n gto n in which university John Washington carver did he teach
Ca rve r Washington Dc University.

who was John Washington carver family

who was John Washington carver family

George Washington Carver was born into slavery, the son of an enslaved woman named Mary, owned by Moses Carver. During the American
Civil War, George and Mary were kidnapped and taken away to be sold.

which university did accept John Washington carver

idont no

what is relation iowa withJohn Washington carver

no

what did John Washington carver do with mest of his money

Washington praised Carver in his 1911 memoir, My Larger Education: Being Chapters from My Experience. Washington called Carver "one of
the most thoroughly scientific men of the Negro race with whom | am acquainted." After Washington died in 1915, his successor made fewer
deMaml$ pmGarze oy Mininistrative tasks.

which boeok did John Washington carver wrote




Almost any topic they want to learn...
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sun

Sun IS e cemter of e SOler SyStam plans oDt sround e SuN SYSIEM Dlans oDt sround e Sun

plants

ey oDt sround e Sun ey are e DIgEST MINGS Ordting e Sun Tare are eight plants In Te Solar Sysem

solar system

SOLAR SYSTEM

because Pluto is a very small planet so it is called a dwarf planet
how much age is our solar system
our System is 4.568 billion years old

our universeis 12 billion years old

HOW OLD ARE THEY °

13.77 Billion

. Years Old
13.2 Billion
Years Old

UNIVERSE - ™ .
~ .

—_—
. -

MILKY WAY

e S v .
4.5 Billion
# Years Old

4.6 Billion
Years Old

Asteroid belt

The asterold Dat was frst discovered In 1201. The 8sier0id DaXt IS & 0iSC Shape, JOTa%ed Datwesn e oS Of Mars and Jupler. The asteroic

made of rock and messi and are ail imeguiarly Shapad. !e 233210103 10 e Dals are MEonS o Dilllons years oid

+91 75699 33343

info@xcelvations.com
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estimated to be 4.54 billion years.

THE EARTH IS
4.6 BlEEON
YEARS OLD

Scaling to
46 years,

humans have been here
4 h

ours,
the industrial revolution began
1 minute ago,

and in that time,
we've destroyed more than

h alf the world’s forests.

Hubble telescope, Gamma-Ray Burst Polarimeter telescope, Fermi Gamma-ray Space Telescope

IEP,
JLNT



We watch documentaries and videos.

ETHYL & WHY INFRARED? \@PBS

SN

“Your craz .
Bulgarian” V’ Ctor
A

P Pl ) 3901/1:19:26 - The Miracle > e @B & (= O

The man who tried to fake an element

Pearl Harbor
Hawaii

C ——

o .‘-.‘ = - - —_— 7
P Pl o) 04971740 - HowlasVegas'Sphereatid B3 £ [& [

How Las Vegas' Sphere Actually Works

+91 75699 33343 info@xcelvations.com




4 » Pl - 4) 342/4603

P Pl o) 21:46/42:29 - Chapter 4-The End of M i B & = O I3

The Bogdanoffs: The Trolls who shook Physics

How Science Harnesses The Incredible Power Of Diamonds | Naked Science |
The man who almost faked his way to a Nobel Prize

Posi Fian
B & = O P Pl “4) 00077:01:06 - Introduction > P Pl ) 3621/5148
The Actual Reason Semiconductors Are Different From Conductors and One Hour Of Mind-Blowing Mysteries Of The Atom | Full Documentary Exploring our Mind-Blowing Universe | BBC Earth Science
Insulators. -

+91 75699 33343 info@xcelvations.com



We had a lot of fun too!



A collection of 2500 jokes! 5
We read and enjoyed them together.

This improved his English like never before. He developed the skill to
read and speak with confidence. Now, he is one in the batch who makes
others laugh with his witty comments and jokes.

CLEAR GRID

Little Ronnie's kindergarten class was on a field trip to
their local police station where they saw pictures tacked
to a bulletin board of the 10 most wanted criminals. one

of the youngsters pointed to a picture and asked if it really was the photo of a

wanted person.
‘Yes, ' said the policeman. 'The detectives want very badly to capture him.'

Little Ronnie asked, 'Why didn't you keep him when you took his picture?’

+91 75699 33343

CLEAR GRID

After Su nday ChUI‘Ch, the priest would hand us each an orange and a big

cookie. A little girl once lied and took two oranges, but the priest told her she
mustn't lie because God is watching. Then, the girl took two cookies and lied about
it. When asked why she had done that, she said because she thought that God was
only watching oranges.

info@xcelvations.com



We have fun classes almost every week

* We watch funny videos,
tell/create funny stories, and
draw funny cartoons.

* All of them have made him very
confident about his knowledge,
analysis, and English verbal and
writing skills.

* He is reading the Sherlock =
Holmes series now!

+91 75699 33343 info@xcelvations.com




Don’t forget that everything in this
document represents one year of
work by a student who started with

very basic skills and was like any
other student of her age.




We have our own software designed to ©
accelerate the learning process.

File Edit View Insert Cell Kernel Widgets Help

* The user interface is web or s+ x[@n|[al v srm Blcr e
Jupyter Notebook. T S e —

In [6]: ke = ArithmeticManager()

* We start with web but quickly L ———
move to Jupyter Notebook.

verbose = False

ArithmeticManager
Example:

* The contents have been created E:.;;f‘gz;g;:.:g‘f;g::i?" s
to ensure faster learning and are _
. ke.pr@ntF’rabIem(}
based on interconnected e rtansver)
concepts, eliminatin g )

memorization, homework, or
additional practice.

In [7]: ke.printProblemTypes()

roblem_910_8818_one_digit_numbers_addition

roblem 910 8815 one_digit numbers_addition_multiple numbers
roblem 816 8828 one_digit numbers_subtraction
roblem 910 9838 one_digit numbers_multiplicaticon

rohleam @168 AR4R one umhers addition multinlication Tneiral

(IR I Y.
[ |
3T T oo

111
oo ooo
ol el el
EIJ'L'IUDIJL’IIJ"-’I
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The progress card

* He sometimes attends grade 9-

10 batches and does well there
too.

e His school batchmates have
joined us, seeing his

performance. o

+91 75699 33343
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Please note that we also ensured with him

* No memorization*

* No homework**

* No extra assignments™*

* Programming is an essential part of learning.

 When someone forgets something, we simply repeat it, and this time it takes one-tenth of the previous time for
the same topic.

**Homework kills creativity and analytical ability of students, and they are forced to spend their time doing

repetitive and boring assignments.



There is more:

* In his school, he is under a permanent gag order as he answers most
qguestions before his batchmates.

* He used to be slow in reading and used to find it difficult to express
the things he knew well. All that has changed now.

* He is reading extra-curricular books now. Right now, he is reading the
Sherlock Holmes series!




't's not just him; he's merely an
Illustrative case.

This is not an isolated case. This is a typical story of all the students who are
learning with us.

+91 75699 33343 info@xcelvations.com



f you feel he is doing great, your kid could be
in his place. We don't just teach grade 6; we
cater to all school grades and college
students. Moreover, we also provide
advanced instruction in science, math, and
Al/ML to professionals.

Feel free to call us or message us on WhatsApp at +91 75699 33343 or email us at
info@xcelvations.com. You can also visit our website:

http://www.xcelvations.com/

+91 75699 3334
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